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次の英文を読んで以下の問いに答えなさい。1
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－ 3－

（Q: Skills for Success Reading and Writing 5 third edition, Oxford University Press, 2020）

問 1  空欄（　 1　）に入る語として最も適切なものを，次から一つ選びなさい。 1
⒜　help　　　⒝　rely　　　⒞　check　　　⒟　remind

問 2  下線部⑵がもたらしたものについて，本文の記述と一致しないものを，次から一つ選びなさ
い。 2
⒜　less food waste ⒝　safe transportation of eggs

⒞　a lot of money for its inventor　　　⒟　more money for egg sellers than before

問 3  下線部⑶について，本文の記述と一致しないものを，次から一つ選びなさい。 3
⒜　He liked to invent things.

⒝　He was a journalist in British Columbia.

⒞　He improved the manufacturing process for the egg cartons.

⒟　He was angry at the broken eggs which were delivered by the farmer.

問 4  下線部⑷の理由として最も適切なものを，次から一つ選びなさい。 4
⒜　It is because farmers collected eggs from their chickens.

⒝　It is because many people bought the eggs at a supermarket.

⒞　It is because straw was added to the baskets to protect the eggs.

⒟　It is because road conditions were bad, and the eggs touched each other directly.

問 5  空欄（　 5　）に入る語として最も適切なものを，次から一つ選びなさい。 5
⒜　less　　　⒝　worse　　　⒞　longer　　　⒟　shorter

問 6  空欄（　 6　）に入る語句として最も適切なものを，次から一つ選びなさい。 6
⒜　if only　　　⒝　even if　　　⒞　much less　　　⒟　least of all

問 7  空欄（　 7　）に入る語（句）として最も適切なものを，次から一つ選びなさい。 7
⒜　waste　　　⒝　to be wasted　　　⒞　to waste　　　⒟　wasting
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次の英文を読んで以下の問いに答えなさい。

（映画で学ぶ 英語を楽しむ  English Delight of Movie English and TOEIC,

ミネルヴァ書房, 2015）
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問 1  下線部⑴として，本文に記述されているものを，次から一つ選びなさい。 8
⒜　To raise his children ⒝　To overcome his weak points

⒞　To make a speech ⒟　To have private meetings with Lionel

問 2  下線部⑵について，本文の記述と一致するものを，次から一つ選びなさい。 9
⒜　He is afraid of his father.

⒝　He is friendly to his sons.

⒞　He feels strong fear when he speaks in public.

⒟　He is one of the causes of Prince Albert’s stress.

問 3  下線部⑶について，本文の記述と一致しないものを，次から一つ選びなさい。 10
⒜　He calls King George Ⅵ “Your Royal Highness”.

⒝　He helps King George Ⅵ to make public speeches.

⒞　He makes King George Ⅵ relax so that King George Ⅵ can speak clearly.

⒟　He is with King George Ⅵ when King George Ⅵ makes the most difficult speech.

問 4  下線部⑷について，本文の記述と一致するものを，次から一つ選びなさい。 11
⒜　smoking ⒝　drinking brandy

⒞　rolling around on the floor ⒟　filling the mouth with glass marbles

問 5  下線部⑸と呼ばれている人物について，一致するものを，次から一つ選びなさい。 12
⒜　King George Ⅴ ⒝　King George Ⅵ
⒞　Lionel Logue ⒟　Prince Albert’s elder brother

問 6  下線部⑹に最も意味が近いものを，次から一つ選びなさい。 13
⒜　confront　　　⒝　confuse　　　⒞　congress　　　⒟　consent

問 7  空欄（　 7　）に入る語として最も適切なものを，次から一つ選びなさい。 14
⒜　on　　　⒝　at　　　⒞　to　　　⒟　in

問 8  空欄（　 8　）に入る語として最も適切なものを，次から一つ選びなさい。 15
⒜　give　　　⒝　gives　　　⒞　affect　　　⒟　affects
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－ 6－

次の英文を読んで以下の問いに答えなさい。

（Adult Chic by Tatekawa Danshirou, English translation by David Rosenfeld

and Michael Brase, IBCパブリッシング, 2013）

問 1  下線部⑴の状況が起こった理由として最も適切なものを，次から一つ選びなさい。 16
⒜　It was because the little girl was trying to stop the train.

⒝　It was because the little girl was trying to apologize to the conductor.

⒞　It was because the little girl was trying to board a local train by herself.

⒟　It was because the little girl was trying to talk to the young man in his mid-twenties.

問 2  下線部⑵に最も意味が近いものを，次から一つ選びなさい。 17
⒜　occur　　　⒝　settle　　　⒞　answer　　　⒟　appear

3
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問 3  空欄（　 3　）に入る語として最も適切なものを，次から一つ選びなさい。 18
⒜　how　　　⒝　when　　　⒞　what　　　⒟　where

問 4  下線部⑷に最も意味が近いものを，次から一つ選びなさい。 19
⒜　stable situation ⒝　current situation

⒞　crowded situation ⒟　difficult situation

問 5  筆者が下線部⑸のように思った理由として最も適切なものを，次から一つ選びなさい。 20
⒜　It was because the author saw the older people who did nothing.

⒝　It was because the author saw the little girl who fell into a panic.

⒞　It was because the author saw the young man who helped a little girl elegantly.

⒟　It was because the author saw the conductor who complained many times.
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次の英文の空欄に入る最も適切なものを，下の⒜～⒟から一つ選びなさい。

問 1  The quarrel between my sons is getting out of 21 .

⒜　foot　　　⒝　hand　　　⒞　order　　　⒟　break

問 2  How many 22  are there in Ken’s house?

⒜　times　　　⒝　stories　　　⒞　conclusions　　　⒟　assumptions

問 3  You get nothing 23 .

⒜　except for　　　⒝　for lack of　　　⒞　for nothing　　　⒟　even for

問 4  Shopping center was so noisy that I couldn’t make myself 24 .

⒜　to hear　　　⒝　hearing　　　⒞　heard　　　⒟　have heard

問 5  Mary is 25  to be in her house now.

⒜　bound　　　⒝　right away　　　⒞　now and then　　　⒟　acquainted with

問 6  It 26  to be seen whether or not he passed every subject.

⒜　turns　　　⒝　stays　　　⒞　proves　　　⒟　remains

問 7  Standing as it 27  on a mountain, the hotel commands a magnificent view.

⒜　has　　　⒝　was　　　⒞　does　　　⒟　might

問 8  Let’s 28  on this work after lunch break.

⒜　carry　　　⒝　submit　　　⒞　finish　　　⒟　confirm

問 9  My brother wanted to account 29  everything he had done to his friends.

⒜　on　　　⒝　in　　　⒞　by　　　⒟　for

問10 “Why 30  we go hiking today?”

“That’s a nice idea.”

⒜　do　　　⒝　did　　　⒞　don’t　　　⒟　didn’t

4
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次の英文の（　　）内の語（句）を正しく並べかえたとき，（　　）内で 2番目と 4番目にく
るものの組合せとして最も適切なものを，下の⒜～⒟から一つ選びなさい。ただし，文頭の文
字になる場合でも小文字で示してあります。

問 1 31
Someone cares about you more than you know.  I （①　couldn’t　　②　want　　③　to　
④　help　　⑤　but） tell you that.

⒜　 2番目：①　　 4番目：④
⒝　 2番目：②　　 4番目：⑤
⒞　 2番目：③　　 4番目：①
⒟　 2番目：④　　 4番目：②

問 2 32
“Sleep is my way of staying healthy.”

“You （①　exercise　　②　better　　③　for　　④　get　　⑤　had） your health.”

⒜　 2番目：②　　 4番目：①
⒝　 2番目：③　　 4番目：②
⒞　 2番目：④　　 4番目：③
⒟　 2番目：⑤　　 4番目：④

問 3 33
 Einstein’s theory was highly original at the time it was invented.  People （①　what　　

②　understand　　③　he　　④　hardly　　⑤　could） was saying.

⒜　 2番目：①　　 4番目：④
⒝　 2番目：②　　 4番目：③
⒞　 2番目：③　　 4番目：②
⒟　 2番目：④　　 4番目：①
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問 4 34
A *cease-fire order for the conflict was discussed at *the United Nations Security Council.

However, （①　all　　②　council　　③　not　　④　members　　⑤　supported） the 

order.

（注）*cease-fire：停戦　　*the United Nations Security Council：国連安全保障理事会

⒜　 2番目：①　　 4番目：④
⒝　 2番目：②　　 4番目：③
⒞　 2番目：③　　 4番目：②
⒟　 2番目：④　　 4番目：①

問 5 35
We should have a meeting about the project.  （①　you　　②　it　　③　is　　④　for　　
⑤　convenient） to meet us tomorrow at nine?

⒜　 2番目：①　　 4番目：③
⒝　 2番目：②　　 4番目：④
⒞　 2番目：③　　 4番目：⑤
⒟　 2番目：④　　 4番目：①

問 6 36
The wind is so strong that I can’t move forward on foot.  （①　experienced　　②　never　　
③　such　　④　have　　⑤　I） a storm.

⒜　 2番目：①　　 4番目：③
⒝　 2番目：②　　 4番目：④
⒞　 2番目：③　　 4番目：⑤
⒟　 2番目：④　　 4番目：①
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問 7 37
Could you please tell me how to search for books in this library?  I’m looking for  

（①　whose　　②　*therapy　　③　subject　　④　is　　⑤　a book）.
（注）*therapy：治療法

⒜　 2番目：①　　 4番目：④
⒝　 2番目：②　　 4番目：③
⒞　 2番目：③　　 4番目：②
⒟　 2番目：④　　 4番目：①

問 8 38
Your bookshelf hasn’t been fixed to the wall yet. （①　an　　②　be　　③　earthquake　　
④　should　　⑤　there）, it would fall forward.

⒜　 2番目：②　　 4番目：③
⒝　 2番目：③　　 4番目：④
⒞　 2番目：④　　 4番目：⑤
⒟　 2番目：⑤　　 4番目：①

問 9 39
I went to visit a shrine on New Year’s Day this year. I had （①　no　　②　there　　
③　sooner　　④　than　　⑤　got） the year changed.

⒜　 2番目：②　　 4番目：③
⒝　 2番目：③　　 4番目：②
⒞　 2番目：④　　 4番目：①
⒟　 2番目：⑤　　 4番目：④

問10 40
Through my experiences, I’ve learned that things that cannot be solved alone can be 

solved by working together with others. Therefore, （①　possible　　②　to　　③　thought　　
④　it　　⑤　I） solve that problem as well.

⒜　 2番目：①　　 4番目：④
⒝　 2番目：②　　 4番目：⑤
⒞　 2番目：③　　 4番目：①
⒟　 2番目：④　　 4番目：②
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